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(i) All Questions are compulsory.

(i) There are 28 objective questions from question no. 1 to 5. Each Question carries 1 mark.

(iii) Internal options are given from question no. 6 to 20.

(iv) Question no. 6 to 12 are very short answer type question. Word limit of 30 words
approximately. Each question carries 2 marks.

(v) Question No. 13 to 16 are short answer type question. Word limit of 75 words
approximately. Each question carries 3 marks.

(vi) Question No. 17 to 20 are long answer type question. Word limits 120 words
approximately. Each question carries 4 marks.

(vii) Draw well labeled diagram if necessary.
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1. Choose the correct option and write-

i. Which of the following is called sac fungus?

A) Ascomycetes B) phycomycetes

C) Basidiomycetes D) Deuteromycetes

ii. Roots develop-

A) from the root B) from radicle

C) from cotyledons D) from rachis

iii. In which kingdom has the virus been classified in the five kingdom classification?
A) Monera kingdom B) Protista kingdom

C) Bacteria kingdom D) Not in any kingdom




iv. The true statement regarding human excretory system is -

1. The number of nephrons in each human kidney is one million.
2. The amount of urea in the renal vein is high.

3. The process of filtration takes place in Bowman's capsule.

4. The amount of urea in the hepatic vein is high.

A) Statements 1, 2, 3 and 4 are correct

B) Statements 1, 3 and 4 are correct

C) Statements 2, 3 and 4 are correct

D) Statements 1,2,3 are correct

V. Which of the following cell organelles are more likely to be found in the cells which take
active part in protein synthesis and secretion-

A) Golgi body B) Mitochondria
C) Rough E.R. D) Smooth E.R.

vi. Correct sequence of cell cycle is -

A) S-G;- G-M, B) S-M-G,-G,
C) G;-S- Gp-M D) M;-G- G,-S
2. Fw et i i # forfere- 1x6=6
| il Bl T B FBIS - ——————- B |
ii. g8 BT TR AR———————— HEAAT 2 |
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2. Fill in the blanks and write-
i.The smallest unit of classification is...............
ii. The male part of the flower is called ..............




iii. A vascular bundle in which cambium is present between xylem and phloem is
called............. bundle.
iv. The larva of the frog is called ..................

V

. The cell wall in plant cells is mainly made up of ............

vi. Nucleotides are made up of phosphoric acid, pentose sugars and............

3. 9T T 9 qAT- 1x6=6

3.
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Choose true or false-

i.The action of enzymes is not affected by temperature and Ph.

Blackman had given the limiting principle regarding the process of photosynthesis.

. The ability of plants to follow different paths due to the influence of the environment is

called plasticity.

iv. Carbon dioxide is transported in the human body mainly in the form of bicarbonate.

V.

Vi

4

Cardiac muscles function throughout life.
. The junction between two nerve is called synapse.
LERSISE B I I 1x5=5
Hlcd 3 HlcH d
(i)  IRIfthel (a) O
(ii) el H I (b) UFHIR
(1ii) DS Hlsiler (c) &d BIBY
(iv) ¢ (d) NGl
(v) UYT ARash (e) SAFIAATHIET
(f) Mg
Macth the correct pair:
Column A Column B
i. Chlorophyll (a) Pones
ii. Plant growth (b) Pace maker
iii. Medulla oblongata (C) Guard cell
iv. stomata (d) Respiration
v. Hind brain (e) Auxanometer
(f) Mg




5.0 919 ¥ 39X ferfeau- 1x5=5

(i) Hed & AT I ford= HUTH dFHTT Fbadr g2

(ii) &g @ &7 B A BT INT BIAT 27

(iii) 9IS & a9 UM BT A1 IRy |

(iv) Uf3rat & u1g 5= arely e &1 A forfay |

(v) Herfaae it feufa & srame ox = fao 737 o e s &1 o g 2

5.Write the answer in one sentence / word-
(1) How many cranial nerves emerge from the frog's brain?

(i) Which disease is caused by iron deficiency?
(iii) Write the value of respiration coefficient of protein.

(iv) Write the name of the protein found in muscles.

(v) Based on the position of the centromere, which type of chromosome is the chromosome given

below?

6. Wid fafaear frg yeR uRkfRufas Tga 99T T & S1axge 8, 3101 7 & fagaen o @y Sifsm

2

Explain your opinion in two points as to how biodiversity is essential in maintaining ecological balance.

sror1/ OR
Sfal &1 arifepa it e ST &2 forgl & RUl &1 fafa

Why are organisms classified? Write any two reasons.

7. SIhH BT YTRHIYT HITSTT |

Define inflorescence.

sreraT/ OR
STiferrad d AR RRIfA=I # gt ofax forRay |

Write two differences between reticulate and parallel venation.




8. Hed &1 A A9 T 8Y, SHDI IO o B A1 TRy | 2
Giving the scientific name of the frog, write the name of its excretory structure.

Faa17/ OR
g fAftegar g s fAfteadr o W HIfvTe |

Define hibernation and Aestivation

9.%vsF & < B faaRay |
Write two functions of the nucleus. 2
et/ OR
T gD I UTH FRUHS SITAT9] H g &l 3aR Ry |
Write any two differences between gram positive and gram negative bacteria.

10. gfg 9 &1 TR AEaor FHifm 2

Make a graphical representation of the growth curve.

9497/ OR
fSTaRfer g & 21 B foffy |

Write two functions of gibberellin hormone.

11. IRBITTD Sgatl DI aRETNT HIFTY | 2
Define uricotelic animals.

9491/ OR
AL & 2 Icdol 3T & A4 oy |

Write the names of 2 excretory organs of human being.

12 SR 3Ad &1 GRHTYT Do | 2

Define tidal volume.

FIa1/ OR
O &l (ve) auT Bhel Bt $d YTRdT (TL.C) B af SfaR fafau |

Write two differences between biological capacity (vc) and total lung capacity (TLC)

13. Q9ral & o U d&or fafae | 3

Write three main characteristics of algae.

AY4T/OR
o Wad &)t 3 5y ueR fanfed fear o godr &

How can gymnosperms be differentiated from angiosperms?

14, FREA T TG BRI e # B 1 3icR foaRag | 3
Write any three differences between mitotic and meiotic cell division.
ATAT/OR
T HIRHERIT 7 BIfHT AT fod YR wiferat # B9 arel I fave & R 1 (F1E
F= forerar)

How is cell division in plant cells different from cell division in animals? (any three variations)




15. TATSHIATSRIA G od Ish H dIg 3 R forlRay | 3
Write any 3 differences between glycolysis and Krebs cycle.
RN
fhoa @1 forar &I T HRd Y 39S a1 AEed forRaue

Explaining the process of fermentation, write two of its importance.

16. =2 cxifar T o geu B GarE yuIel 8, U, &, I 3R €1 F U H A9 fHu T U &
T fIfe oiR T 3R ot & Yfirept 1 off Serg Y| 3
The diagram shown below is the conducting system of the heart, write the names of the parts
labeled as A, B, C and D and also mention the role of A and B.

FJAT/OR

B G GHg 9T a1l fad g THg aTd afad &I Yad & &R bl § 3R Fi 2
A person having blood group B can donate blood To which blood group person and why?

17. e TRIT S T<h & T T TLE7 il 2 ITH STHT TAT Al Fret il STrereh qra7 975 T8 =9
T F AT I Fw oAt F s A | 4

1) TRAT T 2| Farta & o 1 i &1 o7 |t 1 qa1aq 2|
2) TRET T =29 Furfa | o =T 1 |7 i S A 2|

3) g AT AL T Tohed HITARTSAT I AT FLAT 8|

4) T H orehar it IqfRertar Forer 2T a7 g9ty g

On testing the urine of a sick person, excessive amounts of sugar and ketone bodies were
found in it. Answer the following questions on the basis of this statement.

1) Which endocrine gland of the body is related to this condition of the patient?
2) Which hormone of the body is related to this condition of the patient.
3) On which cells of the body does this hormone act?

4) Which disease does the presence of sugar in urine indicate?

7
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Deepa visited the hilly regions of Himachal Pradesh. While on her trip, she observed many
people had lumps around their necks. She called it Swollen neck disease. She was curious to
know why this happened and did a lot of research on the cause and the disease. She found that
the disease is caused by the malfunctioning of an endocrine gland. Can you help Deepa to find
the answer to the following questions-

1) Which endocrine gland is responsible for this disease?

2) Write the disease people are suffering from?

3) Write the cause of the disease?

4) Write two effects of this condition will have on the developing fetus of a pregnant woman
contracts the disease?

18.  UBRNZINY &I UHTeg g mdTeig ififhar § a1g 4 3fax faRaw | 4
Write any 4 differences between light and non-light reactions of photosynthesis.
dIET/OR

STERTST FE[TOT 6T AT & forw & &7 qrerar s1fas S99 € Cs AT Cy AT A AR fAget &
e 9T §frm

Which pathway is more suitable for the process of photosynthesis C3 or C4? Give your opinion on
the basis of four points.

19 fg—dIoTa= o=t &t J3=AT 7 iR = amrEu] 4
Make a labeled diagram of the structure of a dicotyledon leaf.
AT/ OR

THATT g fg—dora=l a=1 § dis IR iR ferlRay |

Write any four differences between monocotyledon and dicotyledon stems.

20. AT Siqell it TgaTT € SAET A9 JAT 396 99 T 7717 o | 4

Identify the following animals and write their names and the name of their phylum.




(b) (c)
JIAT/OR

Hiecl TG A BrscI H 4 3R Frfer |

Write 4 differences between chordata and non-chordata.

(d)

XX
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Instructions :-

¢ All questions are compulsory to attempt

¢ Q. No. 1to 5 are Objective type questions. Each question carry 1 mark.

¢ Internal choices are given for Q. No. 6 to 20.

¢ Q. No. 6 to 12 total 7 questions. Each question carry 2 marks (word limit 30 words)

e Q.No. 13 to 16 total 4 questions. Each question carry 3 marks (word limit 75 words)

e Q.No. 17 to 20 total 4 questions. Each question carry 4 marks (word limit 120 words)

dic:— Y8 Y3 UF ddd IV & foIv 2, I8 maas I8l & fo I yeq arftfe gder o
98 o |

9.1 gel fdded g o ferlgu— (1x6=6)
Q.1 Choose the correct option and write -

1. GRATIRI & HeTdhi § golagl &I W1 b Fadl o= smniRa &

3. gUs & f1aH 9. uraell &1 | . ATHarS,; RIg T, SURIGd |4l
1. On what rules is the filling of electrons in the orbitals of atoms based:

a. Hund's law b. Pauli's law c. Aufbau principle d. All of the above
2. 3mdd wRefl # &fos dfed @1 FEr a1 B

a1 q. afrad 4. fapof day RIS

2. The horizontal row in the periodic table is called.

a. Group b. Period c. Diagonal relation d. Metal

3. W™ <TaT BT Hel Sl 2 |
3. &R g, ofqur . 3 T, IYIHT
3. Proton donor is also called ..........

a. Alkali b. Salt c. Acid d. hermaphroditic



4. KMnO4 & Mn &1 3mefiexor A&7 2—

3. +2 9. +5 . +6 Q. +7

4. Oxidation number of Mn in KMnOQy4 is-

a.+2 b. +5 c.+6 d.+7

5. (T 3MTad ARV & AN 3MMad H el [l ded UR I 57

3. 2 q. 8 9. 18 q. 2n?

5. How many elements are found in the second period of the modern periodic table?
a.2 b.8 c.18 d. 2n’

6. URTHIE BT PHaT STl o—

F. Ve 4 Ve ¥ Ubrzd © WA

6. Paraffin is called-

a. Alkene b. Alkane c. Alkyne d. Arene

g2 Rad =i @ gfd sifo—

Q.2 Fill in the blanks-

(1x6=6)

1. XAt Al § O fharerRe $8F G § SuRed Ighx |, IS &I 9137 Hf A - <dT 2 S9 ..

1. In a chemical reaction, the reactant which, being present in small quantity, limits the quantity of the product is

called.............. .

2. A # SURIT UIeH U4 =[S &I ... HBl ST © |

N

. The proton and neutron present in the nucleus are called..............

.U T B GIO P H 5 SIde SURIT & Al I8 TX o T BT T |
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5. Thermos flask is an example of.............

6. PP AIRTH H IURAT ATSSIOM, TR , Belloid AT BIEhRA &I T8d ...

(9)]

. If 5 electrons are present in the valence shell of an element, then that element belongs to the............ group.

. Nitrogen, sulphur, halogen and phosphorus present in organic compounds are identified by.......



o O

9.3 el Sirs! ffergd—

3

. WD BTgSIDE
. FHURHATOGDh 37 DI ITRITBROT HE&T

-

N

3. T —16 BT AT Soldel=d [a=amd

4. T BT IIARRIT BT HIUA

5. BISSIo WIgH

Q.3 Match the correct pair-
A
1. Aromatic Hydrocarbons
2. Oxidation number of homoatomic molecule
3. General electronic configuration of group-16

4. Measurement of Randomness of system

5. Hydrogen Spectrum

U4 I d7 gy forfRaa—

Q.4 Write true and false-

N

[&)]

(1x5=5)
q
TogTdY
. ns2npl-6
N
E
. ns2np#
QR
4
B
1. Entropy
2.ns2npl-6
3. Zero
4. Linear
5.ns2np*
6. Arene
7.4
(1x6=6)

1. faeme & 1Kg & SuRRera faera & Arell &1 61 &1 Alcteldl $H81 Sl 2 |

1. The number of moles of solute present in 1Kg of solvent is called molality.

2. fHd f 191 & 3ifpad a6 gorde™ B 2 |

2. The maximum number of electrons in any shell is eight.

3. BISSIO Soldels &1 AMd saiders favd -0.34 dice 8T 2 |



3. The standard electrode potential of hydrogen electrode is - 0.34 volt.

4. 1 a1g & TS W FFAIBROT BIAT & I DTS Hal oIl & |
4. The metal rod on which oxidation occurs is called cathode.

5. ST o7 e % SuRerd uaTef &7 A3 W R $Rd § S IR0 07 HET 1l 2 |

5. The properties which depend on the amount of substance present in the system are called extensive
properties.

6. g1t &I 9= &1 S. [ 7196 fham 2|

6. The S. 1. unit of quantity of matter is kilogram.

U5 Udh I /I H SR forlRad—

Q.5 Write the answer in one word/ sentence - (1x5=5)
1. Kw @1 ®a1 rar 2|

1. Kwis called...... .

2. P AITBT B AR DI IR A Fedid SR el o—

N

. Representing the structure of organic compounds with lines is called-

3. IMHHATHN!  IMAFHHD B SURIM § 71 gelag™ i & faReIUT HEerdm 2 |

w

. The delocalization of it electron pair in the presence of attacking reagent is called.

4. IR H T TH YT BT 3UST BT fhd UhH BT ISENT 2 |

4. Cooling of hot water kept in a room is an example of which process?
5. JHTAT ARG SMaeT fd ded 8°

5. What is called effective nuclear charge?
9.6 NH3z g9 &Re € aaf ?

Q.6 Why is NH3 a Lewis base? 02

Or

g uarf & 94 H Blgsiod A @ Al 3.8 x 10-3M & | g|a1 pH AF @ g

The concentration of hydrogen ion in the cold drink is 3.8 X 10-3M, What will be its pH value?

U7 ST AReT0T &1 A9 forRau? 02

Q.7 Write the law of conservation of mass?



Or

Rer argura &1 M forfan |

Write the law of constant proportion.
us HF &9 ¢ <9 f& HCl i g i?

Q.8 Why is HF a liquid while HCl is a gas?

Or

H20 # sp3 HHR0T BT © Siafdh SHD! MR V MHR @ Bl & | &T?

sp3 hybridization occurs in H20 while its shape is V shaped. Why?
Or

T.9 ARSIl BSSIPed B Hed 87

Q.9 What are carcinogenic hydrocarbons?
Or

gl fhd Fed 57

What is polymerization?

T.10 HHRTIAST BT daRT a4 foriey |

Q.10 Write the third law of thermodynamics.
Or

SEIH UhH b dEd 872

What is called adiabatic process?

T.11 T | BIEH, BgSIod UG IS &1 g UIerd ST BT |

Q.11 Find the mass percentage of carbon, hydrogen and oxygen in ethanol.

Or

T uaredl & 3.01 x 1023379] &1 I, SHd Al l & AT DI |

If a substance has 3.01 x 1023 molecules, Calculate its number of moles.
712 fdl d@ 1 g solag 189 Tl gAd Bl © aie
Q.12 Why is the second electron gain enthalpy of an element positive?

Or

02

02

02

02

02



ATgeroE Ud MeRiTS § O fhgaT =+ $ofl 31fdd g IR aal?

Which of nitrogen and oxygen has higher ionization energy and why?

.13 911 2a} Ih fbd dad & aar NaCl & Jis T & ot ddel SR 913V | 03

Q.13 What is the Born Haber cycle and draw the lattice enthalpy diagram of NaCl.
Or

BTeT AT 3MaATgS I BT FUIT T B 0T BIfoTT |

HTEd BT g8 Tl = -393.5K]

HTeT AT SffRATgS BT T84 Tedl = -282.0K]

Calculate the enthalpy of formation of carbon monoxide gas.

Enthalpy of combustion of carbon is : = -393.5K]

Enthalpy of combustion of carbon monoxide is : = -282.0K]
T.14 Kp Ud Ke o Saer forfau | 03
Q.14 Write the relation between Kp and Kc.

Or
N2 + 3Hz = 2NH3 AH -92.387K]J/mol
SRIF Srfdfehar & =1 gurdi &) o afere & Rigra & MR R 993118 |

1. dIY Dl YHId 2. QId Dbl UHIG 3. 3AUND bl UHI]
N2 + 3Hz & 2NH3 AH -92.387K]J/mol
Explain the following effects in the above reaction on the basis of Le Chatelier's principle.

1. Effect of temperature 2. Effect of pressure 3. Effect of catalyst

U.15 feparcae vd Rfd AHGIAr 1 Serevvl dAfed Gqsigy | 03

Q.15 Explain functional and positional isomerism with examples.

Or

faforRaa At & [UPAC =5 forRau—

1.CH3— COOH 2.CH3-CH:—OH 3. CH3—CO—-CH;3
Write the IUPAC names of the following compounds:

1.CH3—- COOH 2. CHs3-CH:—-OH 3. CH3—CO-CHs



7.16 SWiad Al § WHeHar o ghel 99 & MR R FHsIgd— 0
©
Q.16 Explain aromaticity in the above compounds on the basis of Huckel's law.
SCRRVIRReN
©

Or

JOIF # ATSSIHROT |, BATSTIHRUT U HhIHIHRT ffAfhItetl &l Fasmsy |

Explain nitration, halogenation and sulfonation reactions in benzene.

717 A QU T AT gEH (A) iR AT W7 (Z) drel WRATYRT BT qof Udie forRag— 04
Z = 17 A = 35
Z = 30 A = 65
Z = 1 A = 23
7 = 18 A = 40

Q.17 Write the full symbol of atoms having atomic mass (A) and atomic number(Z) given below:

Z = 17 A = 35

Z = 30 A = 65

Z = 11 A = 23

7 = 18 A = 40

Or

%1 @& n,], m @ s & 74 F1d HIGY | 1. 3st 2.2p3 3.2ps 4.3d3
Find the valuesof n, 1, m ands: 1. 3st 2.2p3 3.2p¢ 4-3d3
U.18 ATGCIST Y] BT 3HMVaeh PHeTdh 3R I8 | 04

Draw the molecular orbital diagram of nitrogen molecules.



Or

JffaeTas o Pped 87 JT AT & UbRI bl FaSY |

Q.18.What is overlapping? And explain the types of overlapping. 04

u.19 fA=ferRaa Aiffret &1 IUPAC a9 forRau |

1. CH3— CH —CH— CH;

2. CH3;— CH, — CH— (CH3),

C,Hs G,H;s
3.CH;—CH,— TH:W%:I'_ CH;—CH; 4.CH;— CH,—CH= CH—CH;
CHs GCHs
Q.19 Write the IUPAC name of the following compounds. 04
1. CH;— CH—CH— CH; 2. CHs— CH,— CH— (CH:),
bt
3. CH;— CH;— THCW%:!_ CH;—CH; 4.CH;—CH,—CH= CH—CH;
CH; GH:
Or
AfEforRed A & I[UPAC 9 | SRa 1 93 99189 |
1. 2,3—SBAATA A 2. gueq
3. Heffed) dofe 4. ATSFA o —1—8
Make structural formulas of the following compounds with their names:
1. 2,3— Dimethyl Butane 2. Neo Pentane
3. Methoxy benzene 4. Cyclo hex-1-ene
¥.20 ARUR FATGIAAT B TIF & ISRV dl FERIdl A FHegy | 04

Q.20 Explain conformational isomerism with the example of ethane.

Or

ATHTNPIB TG YA ATHI1hI® & g BT ISEvor Ifed qqsgy |

Explain Marconioff's and Anti-Markioff's rules with examples.
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Instructions: -

e All questions are compulsory.

* Marks are indicated in front of each question.
Section-A (Reading)

Q.1 Read the following passage and answer the questions on the basis of comprehension
of the passage.

Butterflies, with their vibrant colors and delicate wings, have long fascinated both children
and adults alike. These ephemeral creatures are emblematic of the beauty and transience of
life. With over 17,000 species worldwide, they play a crucial role in maintaining the balance
of ecosystems. Butterflies are more than just pretty insects; they contribute to the
pollination of various plants, aiding in the reproduction of numerous floral species. Their life
cycle, from egg to caterpillar to chrysalis and finally to the graceful butterfly, is a captivating
natural spectacle. The longest-lived adult butterflies live for nine months to a year, but the
average lifespan for the majority of species is just two to four weeks.

These creatures are known for their distinct wing patterns, which often serve as a defense
mechanism against predators. Some butterflies, such as the Monarch butterfly, are
renowned for their migratory patterns, traveling thousands of miles across continents.
Furthermore, their sensitivity to environmental changes makes them a significant indicator
of ecosystem health. Unfortunately, their populations are threatened by habitat loss, climate
change, and pesticide use, making conservation efforts crucial to their survival.

In gardens and parks, butterflies are admired for their elegance, becoming a source of
inspiration for artists and poets. Their ability to transform from a humble caterpillar into a
resplendent butterfly has symbolized hope and metamorphosis across various cultures. As
we continue to appreciate their beauty, it is essential to understand the importance of
preserving their habitats to ensure the continuation of these enchanting creatures for
generations to come.

Questions:
I. What is the role of butterflies in ecosystems?
(a) predation(b) pollination(c) decomposition(d) competition

II. How many known species of butterflies are there worldwide?



(a) 5000((b) 10000(c) 15000(d) 17000

[ll. What is the typical lifespan of a butterfly?

(a) 2-4 weeks(b) 1-2 months(c) 1-2 years(d) 5-10 years

IV. What is the purpose of the vibrant colors on the wings of butterflies?

(a) attracting mates(b) camouflage(c) warning signals(d) protection

V. Which of the following butterfly species is known for its extensive migratory patterns?
(a) tiger butterfly(b) monarch butterfly(c) swallowtail butterfly(d) painted lady butterfly
VI. What poses the most significant threat to butterfly populations in the context of the
passage?

(a) habitat loss(b) overpopulation(c) climate change(d) predator influx

VII. The first stage of a butterfly's life cycle is-

(a) egg(b) caterpillar(c) chrysalis(d) fly

VIIl. The significance of butterflies in gardens and parks is-

(a) controlling pests(b) serving as prey for birds(c) providing inspiration(d) sitting on flowers
IX. What cultural symbolism is associated with the transformation of a caterpillar into a
butterfly?

(a) despair(b) change(c) hope(d) stagnation

X. What term is used to describe the transformation of a butterfly from egg to caterpillar to
chrysalis to adult?

(a) evolution (b) metamorphosis (c) adaptation (d) reproduction

Q.2 Read the following passage and make notes on the basis of your comprehension of
the passage. Give a suitable title. 4

To live in harmony with oneself and the environment is the wish of every human. However,
in modem times greater physical and emotional demands are constantly placed upon many
areas of life. More and more people suffer from physical and mental tension such as stress,
anxiety, insomnia, and there is an imbalance in physical activity and proper exercise. This is
why methods and techniques for the attainment and improvement of health, as well as
physical, mental and spiritual harmony, are of great importance, and Yoga meets this
requirement. The word “Yoga” originates from Sanskrit and means “to join, to unite”. Yoga
exercises have a holistic effect and bring body, mind, consciousness and soul into a balance.
In this way Yoga assists us in coping with everyday demands, problems and worries.

The exercise levels have been worked out in consultation with doctors and physiotherapists
and can therefore — with observation of the stated rules and precautions—be practiced
independently at home by anyone. “Yoga in Daily Life” is a holistic system, which means it
takes into consideration not only the physical, but also the mental and spiritual aspects.
Positive thinking, perseverance, discipline, orientation towards the Supreme, prayer as well
as kindness and understanding form the way to Self-Knowledge and Self-Realisation.

Section B Writing

Q.3 You are Manijula, you are the secretary of the student union. Draft a notice for the house
captains and the vice captains to attend a meeting regarding celebration of annual function.4



Or
Tourism Department, Government of Madhya Pradesh has launched an ambitious plan to
develop adventure sports and eco-tourism activities in the state. Prepare a suitable poster for
display at important public places /publication in newspapers.
Q.4 You are Devendra Sharma, a student of Excellence H.S.S. Guna. Write an application to
your principal requesting him to issue a character certificate.

Or

Write a letter to your friend advising him to study English, Maths, general Knowledge and
reasoning for competitive examination.

Q.5 Write an article on any one of the following topics in about 120 words. 4
A. Impact of Global Warming
B. Benefits of Modern Technology
C. Indian Festivals
Or

Your school N.C.C unit organised a Blood Donation Camp. As a member of school N.C.C
group, Write a report for your school magazine.

Section- C (Grammar)

Q.6 Fill in the blanks- (any five) 1x5=5
(i)Holland is — European country. (a/an/the)

(ii))You --- wear your seat belt while you are driving a car.(should/must/ought)
(iii) English is --- in many countries. (speaking/spoken/speak)

(iv) Do you know—has happened? (that/ what/why)

(v) The post office is------ the street from the grocery store. (across/by/among)
(vi) The --- class was busy with the project. (all/whole/some)
Q.7 Do as directed- (any five) 1x5=5

(i) Mohan is too weak to lift this bag. (Rewrite using ‘so — that’)
(ii) The student said to the bookseller, “What is the price of this book?”(Change the
narration)
(iii) My parents were happy because | won the first prize. (Identify the underlined clause)
(iv) If Rajesh does not act now, he will lose everything. (Rewrite the sentence using ‘unless’)
(v) The work will be finished by the workers in a day. (Change the voice)
(vi) She works hard to support her family. (Change into present perfect)

Section-D (Textbook)
Q.8 Read the following passage carefully and answer the questions given below. 5
We passed nomads’ dark tents pitched in splendid isolation, usually with a huge black dog, a
Tibetan mastiff, standing guard. These beasts would cock their great big heads when they
became aware of our approach and fix us in their sights. As we continued to draw closer,
they would explode into action, speeding directly towards us, like a bullet from a gun and
nearly as fast. These shaggy monsters, blacker than the darkest night, usually wore bright
red collars and barked furiously with massive jaws. They were completely fearless of our




vehicle, shooting straight into our path, causing Tsetan to brake and swerve. The dog would
make chase for a hundred metres or so before easing off, having seen us off the property. It
wasn’t difficult to understand why ferocious Tibetan mastiffs became popular in China’s
imperial courts as hunting dogs, brought along the Silk Road in ancient times as tribute from
Tibet.

Questions:

(i) The above extract has been taken from the lesson-

(a) The Adventure(b) Silk Road(c)The Portrait of a Lady (d) We’re Not Afraid to Die

(ii) What action do the Tibetan mastiffs take when they become aware of the approaching
vehicle?

(a) They run away (b) They bark furiously

(c) They stand still (d) They explode into action and approach rapidly

(iii) Why were Tibetan mastiffs popular in China's imperial courts?

(a) as guard dogs for nomads' tents (b) for their bright red collars

(c) as hunting dogs (d) for their shaggy appearance

(iv) What colour are the Tibetan mastiffs described in the passage?

(a) bright red (b) dark black (c) shaggy brown (d) brilliant white

(v) Which of these has the similar meaning to ‘swerve’?

(a) to sleep peacefully (b) to enjoy freely (c) to turn sharply (d) to run quickly

Q.9(A) Read the following extract from the poem and answer the questions given below-3
The seed | spent or sown it where,

The land is his and none of mine?

We speak like strangers, there’s sign

Of understanding in the air,

This child is built to my design

Yet what he lives | cannot share,

Questions:

i) What does the father wish for?

(a) understanding (b) financial support

(c) moral support (d) none of these

ii) What kind of a relationship does the father and the son have?
(a) cordial (b) strained

(c) warm (d) good

iii) These lines show----

(a) friendship of son (b) understanding of father
(c) grief of father (d) happiness of father

Q.9(B) Read the following passage and answer the questions given below - 4

It wasn’t morning yet, but it was summer and with daybreak not many minutes around the
corner of the world it was light enough for me to know | wasn’t dreaming. My cousin Mourad
was sitting on a beautiful white horse. | stuck my head out of the window and rubbed my
eyes. Yes, he said in Armenian. It’s a horse. You’re not dreaming. Make it quick if you want to
ride.

Questions

(i) Who was sitting on the horse?



(a) cousin of the speaker (b) the speaker

(c) no one (d)both (a) and (b)
(ii) From which lesson has the above extract been taken?
(a)The Address (b) Birth

(c) The Summer of the Beautiful White Horse (d)Mother’s Day

(iii)In which language did Mourad speak?

(a)German (b) English (c) Armenian (d) Arabian

(iv) Write the noun form of the word ‘beautiful’.

Q.10 Answer the following questions from Hornbill in about 30 words- (any five) 10
(i) Why was the grandmother sad when the author was admitted in an English school?

(ii) How did the children console the fear-stricken parents?

(iii) Why was the chair unoccupied? ( Adventure)

(iv) How can over-fishing and decimation of forests prove harmful?

(v) Why did King Tut’s mummy have to undergo CT scan?

(vi) How did Norbu become an ideal companion for the author? (Silk Road)

Q.11 Answer the following questions from poetry in about 30 words- (any three) 6
(i) Who are the persons in the photograph? (A Photograph)

(ii) What will happen if it doesn't rain? (The Voice of Rain)

(iii) Why is the image of the engine evoked by the poet in ‘The Laburnum Top’? (The Laburnum Top)
(iv) What does father intend to do in order to understand his son? (Father to Son)
Q.12Answer the following questions from Snapshots in about 30 words- (any two) 4
(i) Why did the boys return the white horse to its owner?

(ii) Why had the author come to visit Mrs. Dorling?

(iii) What reason did Mrs. Pearson give Cyril for not making tea?

(iv) Why did the king order to build an arch?

Q.13 Answer the following questions in about 75 words-(any two) 6

(i) Does the title of the lesson The Portrait of a Lady' justify the personality and character
sketch of grandmother? (The Portrait of a Lady)

(ii) How did Rajendra Deshpande try to rationalize professor Gaitonde is experience
fantastic or catastrophic experience?( The Adventure)

(iii) Describe the difficulties and disillusionment faced by Nick Middleton during his journey
to Mount Kailash. (Silk Road)

Q.14 What are the three phases described in the poem ‘A Photograph’? 3

Or
When did the poet lose his childhood? How did he feel?(Childhood)

Q.15 What makes the story ‘The Summer of the Beautiful White Horse’ interesting? 3
Or

“l have done something; oh, God! I've done something real at last.” Why does Andrew say
this? What does it mean?(Birth)
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(viii) T% SHHIP 20 I HRA & AFRE H qRITHR IR RdDT H g Pifo |

Instructions :
(i) All questions are compulsory.

(i) Question No. 1 to 5 are objective type questions. Choose the correct options
06 marks, fill in the blanks 06 marks, true false 06 marks, match the column
05 marks, answer in one sentence 05 marks.

(iii) Internal option are given in question No. 6 to 20 .

(iv) Questions No. 6 to 12 are very short answer type questions. Each question
carries 02 marks. Word limit is 30 words.

(v) Questions No. 13 to 17 are short answer type questions. Each question
carries 03 marks. Word limit is 75 words.

(vi) Questions No. 18 and 19 are long answer type questions. Question carries 04
marks. Word limit is 120 words.

(vii) Question No. 20 is questions based on the map of the India. question
carries 05 marks.

(viii) Question No. 20 show in the India map and attach it to the answer sheet

1 e fawe grer fafee- (1x 6 =6)

(i) IITIeT T ToheT QT o ST STTEeAT, AT Jieqdl, ATHIOT Feadl, Tag
AT i T sregae fohaT STTaT 2 -
CIRLGER UIE EEIER: U
(&) AT T (F) TTH | Fls AT TG




(i) HIT S|TaeT 91T SATaT g —

(31) FFe TA Hed & 7L (@) T F T
(F) Hed UF ®IE 7L (T) FTS ¥ a7
(iif) T & AT AT AT A AT T AR &
() AT QERGES
() FITAT CEIREE]
(iv) AT T TH=TT AT 2 -
EIEEEREEAR L] (@) FaTmasgae
() I=9 319 | g = @) Fe e & e ee
(v) ‘FITer e R 2-
(o) TTSTESAT (@) aftrerTg
() T () Ao
(vi) TAT T a2t =re 1 f9-H1 ggreat a7 e 8-
(31) wEET @) Frefrd
GEEILKIE ORIEEILE]

Choose the correct option and write -
()  Under which branch of geography, population, urban settlements, rural
settlements, transport communication etc. are studied-
(a) Physical geography (b) Biogeography
(c) Human Geography (d) None of these
(i) Moho discontinuity is found in —
(a) Between the crust and the mantle (b) Above the crust
(c) Between the mantle and the core (d) Inside the core
(iii) The energy received by the Earth from the Sun is called-

(a) Insolation (b) Atmosphere
(c) heat (d) air pressure
(iv) Circulation of air occurs -
(a) High pressure to low pressure (b) Low pressure to high pressure

(c) High pressure to high pressure (d) Low pressure to low pressure
(v) 'Kayal' lake is situated in-

(a) Rajasthan (b) Tamil Nadu
(c) Kerala (d) Manipur
(vi) Which hills join the Eastern and Western Ghats-
(a) Mahendragiri (b) Nilgiri
(c) Annamalai (d) Palakonda
2. R ==t it gf S - (1x6=6)
(i) ST T8F oo, AT & e AT 2 |
(i) TAT AT TEH AATE T v FEATAT B |
(ifi) STTRTET T TT T AT oo TohaIT o RTEOT Ta@Ts <ar g |
(V) T e, T FT BeaT 8



Fill in the blanks -

(i) The word geography is taken from

language.

(i) The innermost layer of the Earth is called .........cccccoeveeerennne. .
(iii) The blue color of the sky appears due to the .......cccccocuvueeee.

(iv) Air pressure is ......ccceeuenee.
(v) Shillong is part of the

(vi) Kosi river is called the sorrow of ........cccccocceevvenenne. .

3. g7 / 3 ferfew -

(i) SAvaSTTa oTRAT &Tael o WRT &7 ST I3TdT 2
(ii) &% g AT 3T HIA o 19 U 951 % T H
(ifi) T FPRATY FOTT F HET Feeld 1 21T FT adl gl

(iv) T TEIH T STeT 7T 9 ST 41T ¢

(v) ANTET ST | AG0dT T T Sq Aqal gl
(vi) STaTERt § TT g dTer afeatord 2id 2 |

Write True/False -

(i) Endogenous forces lift up parts of the surface.
(ii) The asteroid is in the form of a belt between Earth and Mars.

(iif) Chemical reactions loosen the bonds between particles.

(iv) The water current of Gulf Stream is a warm water current.

(v) The main source of salinity in sea water is glaciers.

(vi) Producers include all green plants.

4 . gY SfSAT a915q —
A
(i) T aise
(i) ATeTETT

(iiii) TAT ATAT ST

(iv) 39 T9T
VEEERIPE

Make correct pairs -

IAI
i) Indira Point
i) Maldives

iv) Mango Shower
v) Rain shadow region

(
(
(iii) Shower of flowers
(
(

(F) FTA T TT FATSH
(@) A #1 Fu % form
) fEvs "ErETe

—~ o~

SELIEEIRCIE

JB'

process.

in polar regions.
........................................... Plateau.

(1 x 6=6)

(1 x 5=5)

=) TTHT =T T QAT AT

(a) Kerala and Coastal Karnataka
b) For Kahwa cultivation

¢) Indian Ocean

(
(
(d) Eastern part of Western Ghats
(

e) Bay of Bengal



5. T 915 / T 9199 | Ia< ey — (1 x5 =5)

(i) T T H AL TAL TL SoA1 o TATALIT I FAT Fgd 87
(i) ATET H ae Sta qreaT AfAfaae Fwa i fohar = |
(iii) ToheT & & ATS(eAT A< 5T Raa g ?

(iv) TR TR FE T 6T TThiah AT 8 2

(v) ST T eaT e T3 | J79q 8 ?

Write the answer in one word/one sentence -

(i) What is the transformation of energy from one level to another called?
(i) When was the Wildlife Protection Act passed in India?

(ii)) In which river is Majuli river island situated?

(iv) What kind of natural disaster is blizzard?

(v) With which instrument is the intensity of earthquake measured?

6. WIdeh STIeT =0t fohegl &l erm@ratt & 19 forfer | 02
Write the names of any two branches of physical geography.
A94qT/Or
A H TEHATGT 6 IS &l Hged (e |

Write any two importance of technology in geography.

7. QAT % ATLHEA I AT FIT qredt TS T8 F- off ? 02
What were the initial gases that formed the Earth's atmosphere?
41/ Or
IhT i | FAT aread g

What is meant by meteorite

8. STTerT fohe Fgd & ? SATerT F W1l &l forfew | 02
What is weathering? Write the types of weathering.

et/ Or
qa TITEA & G (HIHT Fle AT EIATRAAT o 918 (9T |

Write the names of any four landforms formed by wind erosion.

9 FATIHISH H ARV o Al g o FIT THTT T2 ? 02
What will be the effect of absence of dust particles in the atmosphere?
941/ Or
FTIHUSS T THT AT § ATHHS T T TAF Hgea ol #471 § ?

Why is the troposphere the most important among all the layers of the

atmosphere?



10 St=- fafaear gzeror & 2 27 3Ty forfeu | 02

Write any two measures for biodiversity conservation.
a4t/ Or
= | sTTees i AT 7 fofem)

Write the role of decomposers in the ecosystem.

11 T&T =12 &t &l ar fereroary feorfem | 02

Write any two characteristics of the Eastern Ghats.
a4t/ Or

qfrHT BTe i #r qT AR ferfar |

Write any two characteristics of the Western Ghats.

12 ST ¥ 9T& A & IS ar FH17 o | 02

Write any two reasons for floods in India.
94T/ Or
AT | T2 &1 T & 1% a1 3uTT forfam)

Write any two measures to prevent floods in India.

13 & & FULET F T4 ATeAT Fl A4 EIATHIAAT Dl GHATST | 03

Explain any three landforms formed by river erosion.
a1/ Or
T % AULET & ad ATl Hls A9 EIATR AT I THATSY |

Explain any three landforms formed by wind erosion.

14 I  GHET GHIT &I == HATS | 03
Explain land and sea breeze graphically.
4T/ Or
THUSH T FTAT AT [AeqE & FHATU|
Explain global warming in detail.

15 HETHTIIT ST sl AFAT &l TATIAT FLeA AT S AT FHILRT Hl GHATST | 03
Explain any three factors affecting the salinity of ocean water.
4t/ Or

& SATT FT A= GHATET |
Explain the meaning of high tide pictorially.

16 9TXd il (g2 AN § SUh Rafq & # dI9 a¥ieE Agd e | 03
Write any three strategic importance of the above mentioned position of India in

the Indian Ocean.
AI4T / Or
AT & TEIET 290 o 719 F 30t feom &t fRufy 1 erw fifso |

Explain the names of neighboring countries of India and their direction.



17 THTAT 99d il Fls A1 [SLTATAT T T i o0 03

Describe any three characteristics of the Himalayan Mountains.
941/ Or
ITAGTT TS 3 s d 19 Hged &l faeare & forfy |

Write in detail any three importance of the peninsular plateau.

18 . 3 & HETalq Ao fHEid & THE aai F7 a0 iy | 04
Describe the major forces of Wegener's continental drift theory.
941/ Or
ot a1 gt &1 faega auie Ao |
Describe the Big Bang theory in detail.

19 9TXA i TAATY I TATIAT FHTA ATl AL HILH HT A0 D10 | 04
Describe four factors affecting the climate of India.
941/ Or
AT | a9 L7 i F S 977 3297 o |
Write any four objectives of forest conservation policy in India.
20. AT & HHHATHRR A # Aeferied s gaizo- (1 x 5 =05)
(i) STt qaq
(ii) o=t =<t
(iii) Sr=wT &9 7R
(iv) F=g; =l @t

(vi) TEATT & @IS

Show the following in the boundary map of India-
(i) Aravali Mountains
(ii) Chilka Lake
(iii) Andaman Islands
(iv) Gulf of Kutch
(v) Gulf of Khambhat
94t/ Or
T & Hare g § Aeferfea & gaise -
(i) =T Ay
(i) T A
(iiil) FALST TET

(iv) AT H&ee

(V) =TT AN T 951



Show the following in the boundary map of India -
(i) Ladakh Range

(i) Ganga River

(i) Satpura Mountains

(iv) Indian desert

(v) Chhota Nagpur Plateau
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PET-11 (@e 3 )
fawg - fe=dt

IHY - 3 °eT [ — 80

i, oty efad § |
i, O U & oY sirdfed sich IHb W $ifha € |
ii. THHHD 19 5dP 32 RIS UYE | TP IU-UH W 1 8 ufka g |
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sl

1. g1 fdh ey o1 7o R forfe - (1x6=6)
i, 39D HeTed! &b TH H 3ah’ HeAS HIN BT Veg @, 39 Weq b1 T 3 g 2

@) A @ W @) P @ud

ii. ¢ H Ul & T FBA @ ?

@) I @ TS &) T @I

iii. TR TiaTelt fthed &t RS BT o1 fobd= ATel <Ial 2

(3 WU @ SeUd (@) G (@eTS AT

iv. X & SMYR R A fhd- THR F BId g ?

(30 diH @) U™ (9) M1 @) g
v. PRSI FT Gy fpa Tsu AR 2
(3) IR @ diled (@) SiUvR™ (S WO
ViTH R B G A R pgd § 2
(31) 0 foef & oo @)dEgd (@) feo
2. Yo wHl &t gfd a fafay - (1x6=6)
i, NPT FT T T gl ( IR /AR )
i.  UCHIGRBEAT Ho Y UG (AT FEOT /o)
i, A AR gy | (ST &/ aTal o/ TR &)

v, Tpd T I R A o uRad & s eeg FEAAE | (AT dgd/ IIW)
v. % PIGEE BIBM........ FEAIR | &S/ AR JSoR)
vii  f&dl &1 ugd ardifiesd U ... H (Sed HIdS /HHAR/ )

3. fFufofed syl & T9e 9 a1 3 forfem - (1x6=6)

i.  fydar gga &1 o snfeand oRar # gan g
i. ©gH I BTG 9 BN B

i, Tl dIgT U6 & ogd RaR SR B

v, T o SIeg a1 Yeai & Usd WART B B
v. T B Harsit &1 9ol i Hgardl g

vi.  IRORUF ARG uF Bt uft 7 oma B
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5. fFafeRad usi & IR T-Ts a1 ¥ fofau -
i, SahHGICHl P 3R ¢d BT A faRau|
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iii. T wmHTd: HR ATan &1 @ o o 9

iv.  YRd i & Huresd ST A fafau

v. SIUEY P YR I R Hed § ? U Vg | fafau|
vi.  PHR T BT aRdfdd AH a1 82

vii,  guTed & fo ure fy o aren v Rigid fafau |

6 frior ufdd yrT &t & faRwaTd. S/aTd §T <1 wfaal & 9 fafen|
3yaT
TS BIddl B1 &l [ARVaTg Td <1 Hiddl & T ffeg)
7. B3 g AR IY WR & T Uama= &} A1 918 &2
3yar
YT & FRG S § T i 82
8. AT T, Pt IR I&TeRUT Wied fafQu
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T TRae H T ST o7 eaT x| STaRa s g 62 fafau|
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3yt
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3yt
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15. AR UF & dal & A faRau ). )
3yt
W NG B & faRvand fafew
16. PdeH oY@l ¥RiEs  HreavTa faRivan Fafafed fargsit & smer wR fafae- 3)
i A i WTEUE il PaTag
17 . PN ISl YAl VR AR B g fa=Ivan Fofired fagef & TR R fafe - 3)
LAY TRl i, e B R
18. YT Ucxia R fefia -

I I TgT U B 3)
3ryar
& it & ot ot &) G R =t &1 Farg e I
19. fRgferiRad srafed T sryar ST & Ugd Ad ford ueff & IR fafae- (3)
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fAed Srar gl
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&H dl Ueb-Ucb R I |
QIS Bg [oTel BT Grer ford ATfe ufgaii| |
T U9 T € U1 U Siifel T |
Tcb TP T e HIS Ucb bigRT HiHli |
3yt
Y TP 98 3G BIeht &
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21. Fafafed mere ot e -y v faxy wfeq sare fafRae - 4)
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M emEa/PHYSICS

Time /98T: 3 O¢ Maximum marks /31f8&sds 37 : 70
fader-
Yy erfeyard 7|
e HHIP 1 H 3 Tb B oIy YD YT WR 6 3 qAT S-d SUUTT W 1376 IMafed 2|
e PHHIG 4 H 5 TH ® oY YD U W 5 3 TAT 9D UV W 13(d Amafed ¢ |
e PHHIG 6 F 12 TP UAP U9 WR 2 3fd Idfed g |
U3 HHIPG 13 H 16 D folU IAd Te9 R 3 3 2mdfed |
TeT HHIG 17 | 20 T6 YIS T W 4 3fF Irdfed Bl
JARIHATTIR WS TG AMifhd = 15y |
U3 HHIP 6 | 20 H MdAR® fadwey 3y v |
nstructions -
. All the Questions are compulsory.
. Question no 1 to 3 are allotted 6 marks on each question and 1mark on their sub-question.
.Question no 4 to 5 are allotted 5 marks on each question and 1mark on their sub-question.
. Question no. 6 to 12 are allotted 2 marks on each question.
. Question no. 13 to 16 are allotted 3 marks on each question. .
. Question no. 17 to 20 are allotted 4 marks on each question.
. Draw neat and clean diagram if necessary
. Que Nos. 6 to 19 contain internal options.

PNV R WNRST®O®NO R ON

1. Ter fasea &1 I« Hifavl Choose the correct option - 6
i) rafaf@a & & gaicy FIoT & v S & AT sifas 9 Ga@T grem-
A) 40° & 50° B) 50° & 75°
C) 50° & 60° D) 40° & 45°
i) Among the following, for which pair of angles of projection will the horizontal range be
same —
A) 40° & 50° B) 50° & 75°
C) 50° & 60° D) 40° & 45°
i) ftfaf@d & @ T gaor 7 a8 W A 6T T FRIA &-
A) AT R W gEdh
B) el glt & X g asn H qg
C) Ity I W THHAA AT & AT R
D) UeEA Fecdid a1fd et 3

iii) Which of the following situations involves an external force acting on the object?
A) A book placed on the table
B) Raindrops falling over a long distance
C) A moving car on a straight road with uniform speed
D) A ball moving in a circular path with uniform speed




iii) forell s T frel 30T [ & T[ecdT Yomd & 3 a1l &1 eI Fd FAY
fArAfaf@a # § Siadr iy wfEg wdr g-
a). IO HA9T, b). T A9, ). Fol JifFH Foit
A) aTdb B) b Td c
C)audc D) a, b Td ¢ d=r
In considering motion of an object under the gravitational influence of another object which of

the following quantities are conserved:
(a) Angular momentum (b) Linear momentum (c) Total mechanical energy

A)aand b B) b and c
C) aand c D) alla, b and ¢

vi) fF-1 & gefdia T # ST 8RT &l fhe foig WX are 3ifeiehas g -
Ll A / [\

Fig.1
A) a B) b
C) c D) a, b U@ ¢ di\l W AT
v) In the fig.1 a vessel is filled with the water. which point has maximum pressure —
A) a B) b

C)c D) a, b and c all have same pressure
v) efoaf@a & FeArrfadr aear @ JA87 § -
A) cE B) 3madsT

C) 3TaRe Fair D) FsAT
v) Which of the following is not a thermodynamic state variable
A) Pressure C) Volume
C) Internal energy D) Heat
Vi) PR Samerot ¥ FeT Jmadt A A PR e -
a. fodll TR GaRT &Y & U ¢ @ gAY de S 3R 39el Teh arodl Jm=r el
b. Ul SeTART g & IR: Uit 1T LT gTSZT=T 3]
c. fer A @ BIEr A R
A) aTd b B) budc
C)atudc D) a, b wd ¢ =t
Which of the following examples represent periodic motion?
(a) A swimmer completing one (return) trip from one bank of a river to the other and back.

(b) A hydrogen molecule rotating about its centre of mass.
(c) An arrow released from a bow

A) aand b B) b and c
C) aand c D) alla, b and ¢




2. Rerd ®um@t &1 gfd Fif 6

i) TRl 1cm $faTT arel e &I 3R ... m® & SR« gl
i) afe Fredl o &7 AT THAAA X @ TGl § ol SH THAAG ... afa Fgd Bl
iii) gt r ot gaefia et @I ... weTor e W 3maRa g

vi) & ey foieg afed s rcafes gl der fr o |endr &, FgalTd &l
v) TFEY 9eT & Uehieh gGIAT & did H Tehih IRAdeT & (o0 3aeTsh AT I AT Hi

Fill in the blanks-

i) The volume of a cube of side 1 cm is equal to .......... m

ii) If velocity of an object increases at the uniform rate then it is called uniform .... .motion.
iii)The law of areas about motion of planetary is based on the conservation of....

iv) Substances which can be stretched to cause large strains are called.......

v) The amount of heat per unit mass of any substance to change its temperature by one unit

Match the column -
i) Work-Energy Theorem

ii) Inelastic collision
iii) Torque

vi) Angular momentum
v) Monatomic Gases
vi) Diatomic Gases

a) 3 TACT &I HIfe

b) RT

c) (5/2) RT
d) lw

e) rxF

f) Ki—Ki=W

g) Ki—Ki<0

is called ........

vi) The interference of two identical waves moving in opposite directions produces......... waves.
. HET Sigr fAeme ferf@ul 6

i) FE-FAT AT a) 3 AT & e

i) IOy Fug b) RT

iii) aoT 3ErOT c) (5/2) RT

vi) IO @aer d) lw

V) T WA I e) rxF

vi) 9§ TRATE A f) Ki—Ki=W

g) Ki—Ki<0



4. U I/ Use H 3ca QS 5
i) fonely aTfcieTsl G T ATceTiOTeh daT 3&eh 3 997 & SIS el gl &7
i) forelr |fger A & GFafad Tenes wfger foafaul
i) forell afed aR & Fafed vearey ®fds e & ¥ faf@ul
vi) fafeor Ifr & Fvar & gfe Fa W & T JI9T T+ & Td & g IR
festesT fopar Sirar &7
V) T 3Tad Ifa =a R FoT & [Feaas 3R cavor § gy afaul

Write answer in one word/ sentences

i) When is the instantaneous velocity of a moving object equal to its average velocity?

ii) Write the unit vector related to a vector A.

iii) Write the formula for the potential energy stored in a stretched string.

vi) How the design of cooking utensils modified to minimize heat loss due to radiation?
v) Write the relation between displacement and acceleration of a particle moving in SHM

5. AFIAf@a FUal & T @cg 3ryar raay fafEe 5
i) Tl IR 37 e 3k B B
i) Upfae a1fd & fREY o1 Y AT YT Bl I Y QI 7T B Fehell Bl
iii) fosifa ™3 &1 swifa Tolig (S #Aa) Ft 8 caRa & & T aeg ga i 3MaeTHar
gicr &l
vi) frar aifaeler ¢ afFa # &1 3 Fr 3dRF FAT & diFa & aifdss Far Fr o
JreTer gl gl
v) T ATETH &7 Gelcd §6o1 W €afel FI drel §¢ SATar gl
Write true or false for the following statement -
i) All the non-zero digits are significant..
ii) In uniform motion, the velocity of a particle can be zero even when its speed is nonzero.
iii) Like inanimate objects, living beings (such as humans) also require an external force to
accelerate.
vi) In a moving closed box filled with gas, the kinetic energy of the box contributes to the

internal energy of the gas.
v) With an increase in the density of a gaseous medium, the speed of sound also increases.

6. af¢ frelt gere &1 geica A CGS ugfa # 1 & ¢ dr, S| ggfa & frder ghem? 2
If the density of a material is 1 unit in the SI system, then what will it be in the CGS system?
3rqar/ OR
IR Teh G 3R TH HeX YA AT ST &1 39 9197 & o7 & A hd IR
AMAAN?
You are given a thread and a meter scale. How will you estimate the diameter of the
thread?



7. T 3UIS @ TI-AAYAD OIST g e A 2 Yehs URTTA AT fehelalr gram? 2
A ball is dropped from a height. What will be the velocity of it after 2 second.
3aar/ OR

30 ms” drer § el Fgeh W AWM HR seh oM 9T 50 HeX gT el F &ehell gl R

H 3cUooT HcaoT Tohael §7

A car moving along a straight highway with speed of 30 ms'is brought to a stop within a
distance of 50 m. What is the retardation of the car.
8. TFdr g 91fa & gl W 99 F IFTF Fhel W I 3T Fr 3R FT RS ao1 872
passengers are thrown forward from their seats when a speeding bus stops suddenly.Why?
31aar/ OR 2
forell gee T ST & &Y Y GATIT ST T@T &1 Iheh SHT geal W Ue Ty foem &
3R & Afd A FNe?
A stone is being rotated by a string. If the string suddenly breaks, in which direction
will the stone move, and why ?
9. Tardl 3HeldTeT T §7? 2
What is Poisson’s ratio?
31aar/ OR

ST gfaee 7Y Fgd &7
What is hydraulic stress?

10. &1 &1 o @aa @ 2

Write Wien’s Displacement Law.
34ar/ OR

=gea @ el Faa fafgul

Write Newton’s law of cooling.

1. FeAEIfaR #1 =g Hife Haa @ 2

Write Zeroth law of thermodynamics
3yar/ OR

TEsT UohH A Fgd 82 3T fov 3meey 9 geur gy fof@ul

What is adiabatic process? Write ideal gas state equation.

12. 3T 7 g3t & arfy 1 et eafr & der fr FAE @ grar B, A off TR @ el
¥ faERd &8 9 & FM & T A T g P dF GG H FOT FHT FA 90T 872

Molecules in a gas have speeds of the order of the speed of sound. Yet a gas leaking from a
cylinder in a kitchen takes considerable time to diffuse to the other corners of the room. Why?

3yar/ OR 2
gTecsT ol 3fA% gl &1 e fafaul

Write Dalton’s law of partial pressures.



13. ofT 397 fhd Fed €2 I 991 Td HIvliT 397 & Foaey f@ul R 387 &
IR gOTeT Tl a&c o IOl a1 T &R 1T & Y Feelel § 3HYar w7E1? 3
What is called angular velocity? Write relation between angular velocity and linier
velocity. Does the direction of the angular velocity change with the motion for an
object rotating about a fixed axis?

3rqar/ OR

3cciereh A hgd 872 Scdlelh & fav 3mguil &1 Aeid A& qur gd3v wd AiAs
oI Tk | s giar 87

What is lever? Write principle of moments for lever and show when the mechanical
advantage is grater then one?

14. ga arferd 3camde( hydraulic lift) 7 fgia fof@ul saa Iif3e o HF 9red giar 87
Write the principle of hydraulic lift . How mechanical advantage gets from it
31yar/ OR 3

el & I FFEaE T & T fAfQUl g8 IR W au & §g w1 @A J9
&I IF AT HIfsr

Write Stoke’s law about motion in fluid. Derive formula for terminal velocity of a
rain drop on the basis of this.

15. W @d a1fd & fow aa & e @
Write Force law for simple harmonic motion. 3
3yar/ OR
I A AT Xl fordlr ot &t atferst St FEAfast Soll aur el St wAa Aol

Calculate Kinetic energy, potential energy and total energy of a particle in SHM

16. 100 cm oF< E-03 39 ALY g W IReg gl g0 3efed Hualr Hr Fqel 3gfa
2.53 kHz gl E&ar & &afa &1 arer Ara Hiferdl 3
A steel rod 100 cm long is clamped at its middle. The fundamental frequency of longitudinal
vibrations of the rod are given to be 2.53 kHz. What is the speed of sound in steel?
3rqar/ OR
AR &7 e SIRAT T W & A 99T B Ush A1Y 90 TR ool T § adm -8 agdr gt
% HROT 6 Hz 3T & faede 3cueat oY W@ gl ST A &7 delld $T ge W f&aede i
3Mgfa Tehl 3 Hz & SIc &1 Ife A 1 #o 3mgfa 324Hz § ar B &I 3mgfd ar g7
Two sitar strings A and B playing the note ‘Ga’ are slightly out of tune and produce beats of

frequency 6 Hz. The tension in the string A is slightly reduced and the beat frequency is
found to reduce to 3 Hz. If the original frequency of A is 324 Hz, what is the frequency of B?




17. &1 el &ifast & 300 & o7 @ grM 915 § 3R I§ ¢RI W 3 km g @FRAr 81 wereg
SIUT H HARIS Feh FAT $HA 5 km oY &UT o& &l A THAT ST FehaTl &7 4

A bullet is fired with an angle of 30° from horizontal and falls to the ground 3 km away.
By adjusting the projection angle, can the target located 5 km away be reached?
3rqar/ OR

HIS HUT t=0 W HeT fg & 10j ms™ & dT F Telell IREH HIAT g AT XY-HHATT H
UhEHTA a0l (8.0i +2.0j)ms? & a1fad aXar gl fra &7o1 &oT &1 X- fAGens 16 m ghem?
s &fur y-fadens fohaer gem?

A particle starts from the origin at t = 0 s with a velocity of 10j ms™ and moves in the

x-y plane with a constant acceleration of (8.0i +2.0j)ms. At what time is the x-
coordinate of the particle 16 m? What is the y-coordinate of the particle at that time?

18. 7o & aifd FFaeel e e faf@ul 4
Write all three Newton’s law of motion.
31y4ar/ OR

fordll AT gocia Fseh W AN SR @l 3HFheel T FHgl & o glal §73H AN W HR
I 3SR drel 8 IF T f

From where does a moving car on a plane circular road obtain centripetal force? Establish
the formula for the maximum speed of the car on this path.

19. 15 ABfhaT AR dFh A T TR 3T 10 m g SR TehelT &1 38 Ffshar i 3afer
H, T5% ¢aRT ATsfohel WX @IRAT 137 §f 200 N § St 381 a1fa & faudia gl @& ganr
arsfrer W fordelr w fhar a1 a1? wsfehe gant @5% W fhdem & forar arm? 4

A cyclist comes to a skidding stop in 10 m. During this process, the force on the cycle
due to the road is 200 N and is directly opposed to the motion. How much work does
the road do on the cycle? How much work does the cycle do on the road?

314ar/ OR

ar a¥UERd AT 9y, A A T f o e qUr gy Y ol HH §.US & MY W
Fora 81 Y ¥ U 9Y 9T Th-Ush YR & J{UAEEAT ¥ AT IR Srar & =
q??ﬂwﬁrmwawwé‘rwﬁ;ﬁﬁq@ﬁ?mxmEﬁrcqusm Firerl

Two frictionless inclined paths, one with a steeper slope and the other with a gentler slope,
meet at the same point. From the point, a stone is released on each path, each stone
sliding downward. Will these stones reach the bottom at the same time and with the same
velocity? Explain your answer.




20. AT AT R We M TUT 4M SeT AT & &l UhEHAT o1 el 38 YR W § & 3a7eh
dheal & oI gUehel 6R g1 Sl aitel U W 1T 81 m gegdAlT & fonely weiey &1 M
SSTATT & el & I8 ¥ 4M GeIHT & Ml & &g i 3R A waifda frar e 2l
T T 3H GAdH ATl & AT cFsih AT HIiS fFqd heh S W a: g@ N &
56 W qg;’a el 4
Two uniform solid spheres of equal radii R, but mass M and 4 M have a centre to centre
separation 6 R. The two spheres are held fixed. A projectile of mass m is projected from
the surface of the sphere of mass M directly towards the centre of the second sphere.

Obtain an expression for the minimum speed v of the projectile so that it reaches the
surface of the second sphere.

31¥ar/ OR
gedl &1 et A aIfaeier Rl 3uag T FHel Foll & AT hoteh T HfS

Derive formula for the total energy of a satellite orbiting around the Earth.

---00---
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Ader:
i- Tt o sTfeaTT gl

ii - T FAE LT 5 T 32 FEqEE T 8 ,T4® 37 T & forw 01 i Ferifia g | @8t AT 06,
= ¥ 06, T /378 06, A5l SAret 07, U a1 07 31 # &

fii- =T FHTH 6 & 23 T TIF T § fea ik fasheq faw 0 &

iv- ST FHE 6 F 15 T Fo110 T § 193® 77 & o 02 =i Feifa g

V - T FHIE 16 § 19 TF FA04 T gl TAF T & T 03 3% [aina 2|

Vi - T FHIE 20 § 23 T T 04 T & | TF T & (010 04 3% Feiia g

Instructions:

i- All questions are compulsory!

ii- There are 32 objective questions from question number 1 to 5, 01 mark is prescribed for each sub
question. Correct option is 06, blank space is 06, true/false is 06, correct pair is 07, a sentence is
of 07 marks.

iii- Internal options are given in each question from question no. 6 to 23.

iv- There are total 10 questions from question number 6 to 15. 0 2 marks are prescribed for each
question.

v - There are total 04 questions from question number 16 to 19. 03 marks are prescribed for each
question

vi — There are total 04 questions from question number 20 to 23. 04 marks are prescribed for each
guestion.

TY1- dgiaded U8l & IR alford (1x6)
I- -1976 & Hifers der foher GfaeTT e gy ST 47 -

(M) 429t (F) 434t

() 44 =t (%) 454t

l- =raaTiE gfafafee 7 @ a7 g0 ®id g2

(1) TH. 5T . ATERT () ST Y. TH. FIT

@ AL T AT (F) WAL



jii- - TTRTE FH FAAT & AT F1T FLAT ¢, Tg TTE 2l &-
(31 "@fEg=E (F) T
@ FEEE (@) Faa

IV ="STel T & o] Saa=ar 7gl & "ag e wgr o

() A= () ST ATH

() =T=| () AT

V- srferaTe ag 9T & T FH1sT T FXdT 8 i 1T a1 F3dT g | T8 H4 e g
(31) BlTe CEIEE

GELSS] (%) FrETH

VI- Trgare g sAfaw smearicass §iorer At g1 TehdT S0TeelT a7 JTH=ar g1 | il il hiwd 9
ofTOT ET T 1T STF T S{Ad g QTR &l A1adr 9% FaTtd asrll 951 g+ &7 I8 HI9
[EREa A

(31) TRTeHT et () TATEY ATA AE%

(¥) Ttez |17 ST (=) s staEET

Q1- Answer multiple choice questions
I- By which constitutional amendment was the fundamental duty added in 1976 -

(A) 42th (B) 43th
(C) 44th (D) 45th
ii- Who is the biggest supporter of business representation?
(A) H.J. Lasky (B) J D.H.Cole
(C) Lord James Bryce (D)pro. Garner
iii- - It becomes clear how governments are formed and how they function-
(A) from Constitution (B ) From Darshan
(C) from history (D) From Geography
iv -Who said "Where there is law there is no freedom"
(A) Green (B) john locke
(C) Hobbs (D) The Mclver

V- Right is the demand which is accepted by the society and implemented by the state. Whose
statement is this.
(A). Holland (B) Austin
(C) Wild The (D) Bossake
VI- Nationalism cannot be our final spiritual destination; humanity is our refuge. | will not buy glass
at the price of dimond and will never let patriotism triumph over humanity as long as I live. Whose
statement is this.

(A) Mahatma Gandhi (B) Rabindranath Tagore
(C) Jawaharlal Nehru (D)Dr Bhim Rao Ambedkar
gy 2- fad =i & gid Sifor? (1x6)
i- TG START BT RITYAT ..o CLR:NE]
TERUC2 3 ) fer: S —— T gl
iii- ol & S1feR o Mere R &t &t § I ----------- T ger faar mam|
iv- Rrem ... g w1 fawg 7 |
(VA I B35S ) R e o) A 1 — DI HET oI &



Q 2- Fill in the blanks?

i- The Election Commission was established in the year .................

ii- Rajya Sabha is a ----------- house.

iii- The right to property was removed from the list of fundamental rights in ----------- .
iv- Education is a subject of the....... list.

V-The father of local self-government is called--------

Vi- The unwritten constitution is of ----------- )

Y 3 - I /39T BT I DIoTd? (1x6)
i- HRd 1 IFUf GauTe U@ gIdn @ |

i- DI g BT UATd Had IoTTHT § 8 a1 off Ihell 3

iii- YAt Taraed & had 9t sered d A g gid §

iv - Tfaeu™ & HRA B Isdl BT Y Bl T g

V- SIdTel YUY I 919 A DHIAsTal TR FH & e & =0 § off B far ot

Vi- TEIEAT SHTLT RIS SGR § T8 S a1d TMeR fadie &1 o |

Q 3 - Select True/False?

i- The President of India is the constitutional head.

1i- The proposal to remove the Vice President can be brought only in the Rajya Sabha.
1ii- The decisions of the Supreme Court are valid for all courts.

iv — India has been called a union of states in the Constitution.

v- Netaji Subhash Chandra Bose also served as the Chairman of Kolkata Municipal
Corporation.

vi- Bal Gangdhar Tilak has Said that freedom is our birthright .

Uy 4- gl SNl §913Y ? (1x7)

DIAH 3H CANLKC

i-  3TITdhIA A-fazeft amTierar a9 39 9%

ii- - U9 U=Tad &1 HRiETd B-5 9%

jii- YR Giay™ &1 C-26 TdrR1949

V- srTiaes sTeaT D- s7eq

V- TTEI ST JHTS E- =TT g | S[ET 9T

Vi- Z¥ AT &f AT

Vil - ATEAT ATTTRAT T AT G-3IG 352
et ATt 9T i 9%

Q4- Make the correct pair?




Column A Column B

i- emergency A- On acquiring foreign citizenship

ii- Tenure of Gram Panchayat B-5 years

iii- Indian Constitution made C 26 November 1949

iv- Proportional Equivalence D- Aristotle

v- Ancient Indian society E- Justice was associated with religion
vi- Dignity of every human being F- Justice

vii - Extinction of Indian citizenship  G-Article 352
On obtaining foreign citizenship

U9 5- T d19d H IR oIy | (1x7)

() Mfeie AR dfger & feg urT 77 |

(i) FTHRIATE! FHTAIG & S § |

(iii) =TT T Adad 1 gl § fafaw |

(iv) THIfae U1 BT WHR fFaa g |

(v) AFIRS B fohdas fed P Farai JHIAT A1eT ?

(vi) T T AT & HRd H ) AR dT T gt 8o |

(vii) IRt e & GRS P ¢ |
Q 5- Write the answer in one sentence.

I.  Which part of the Constitution contains the fundamental rights?

ii.  Marxist is the father of equality

li.  Write what is the meaning of justice?

iv- What is political justice concerned with?

v- Whose interest should the citizen consider paramount?

vi- What kind of citizenship is obtained in India in the federal government
system?

vii-Who is the Founder of Parsi religion

e - 3ifd TSI T4l & IR SO, ( TP & forg 02 3 Feffd 7)

Note - Answer very short answer questions. (02 marks are allotted for each)

UY 6-- PR & A H FAfawra fHofa & aar g fafed - (2marks)
Y[

dipad H wruTfee fae ufd SwRerd gkt 3§ forfad
Question 6--Write who takes policy decisions in the case of government?

Or
Write to whom is the executive answerable in a democracy?

UY 7- i guT fob fufaar & vt gial § forfed | (2marks)
S{YdT[

TR fIYTH T BT 82

Question 7- Write under what circumstances the Lok Sabha is dissolved.



Or
What is an ordinary bill?

U48-  grrfie 3} Geamn Jau & i
31yar
gH Wda arguifersT &t =gy |

Question 8 -Write briefly the structure of the judiciary.
Or
Why do we need an independent judiciary?

Y 9 - R WA fHd Fgd g
HYdl
AHGERS f[Ah™ SRHH e Y& fdhar T fokad

Question 9 — What is local self-government?
Or

Write when the community development program was started.

Y10 - Tafy & Iepe SH=a1 =1 §
S{Ydl

T &7 SIPR 5y e AR

Question 10 — What is equality equivalent to law?
Or
In which article is the right to equality
T 1 1- T BT HABR o G- & Afdy™ J ferm T g
Y4l
AW} fob AHMAT RATF |

(2marks)

(2marks)

(2marks)

(2marks)

Question 11- The right to equality has been derived from the constitution of which country?

Or
Write what is equality of opportunities

T%12- <19 & T SR &1 ¢ fafad |
HYdf

U T it Ry ford |7 Sl

Question 12- Write what are the main bases of justice.
Or
What is considered the third principle of justice?

UY13- AT STee AT TH Fid arid gaf |
SHYd[
reorToff forer g

Question 13- When was the Citizenship Amendment Act passed?
Or
Who is called a refugee?

(2marks)

(2marks)



UY14- AT ¥ et - e &t T 8a @ (2marks)
HYdl
AT T HiAer F9ft gat 7 Ara? Far g ey 2

Question 14- People of which religions live in India?
Or
Write that the Constitution of India respects all religions.

UY15- S g¥ & 19 3TQLT FT 872 (2marks)
34T
dtg g & g 21 T et
Question 15- What are the three teachings of Jainism?
Or
Write any two principles of Buddhism?

Aic: T IR U8l & IR Sl | ( Td® Hierd 03 3 Uil g )

Note: Answer short answer questions. (03 marks are prescribed for each)
U¥Y16- F1 51 Ifau™ fagH Aidbdite o &1 Hed R Fdhd g 30 faaR f[aRad | (3marks)
HYd[
81 1iRTg sfaeHR A fry sy & URdTT Afaem @ ot FeT § iR o, fafay |

Question 16- Can we imagine a democratic country without a constitution? Write your

thoughts.
Or
Write which article has Dr. Bhimrao Ambedkar called the soul of the Indian Constitution
and why.

UY17- AHTHT Td I YT o GaI b 19 YUITelt ! JHgH R [l | (3marks)
3{ydT
-gye ot gEa SR aierd g-ma & & 1 sk § fafad |

Question 17 Explain and write the election system of members of Lok Sabha and Rajya Sabha

Or
Write the difference between separate Constituency and reserved Constituency
UY18- --TTSIA e [HGTedl | g8 FT Ji@d g 9 F=e ot | (3marks)

3{Ydi
T g it = sqE fererar forferr
Question 18- Write your thoughts on what we learn from political principles.
Or
-Write four main characteristics of political theory

UH19--Trsrfas stferenme #47 § a1 eor aae forfey | (3marks)
SHYdl

TSI Td Hieh e ATeRe § fa< forfa |
Question 19--Write what is political rights with an example.
Or




Write the difference between political and cultural rights.

3 IARIT Ul & IR <o (UAS P T 04 3 MuiRa g)

answer long answer questions (04 marks are allotted for each)

Y 20 -ared g gferem o we= gifers srfaarmr it sqreaT ey | (4marks)
SHYd[

- ZTOT STSRTERT o STreT | &< SATEHTIr &l THEATHL (e |

Question 20- Explain the fundamental rights provided in the Indian Constitution.
Or

- Explain and write the rights provided in the Constitution of South Africa.
Y 21 - YR W34 P g9 U Siidd Sxarasl &i ded & HRUI Ied f[AfdT  (4marks)
S{Yd[
-Tfaym & TxMe FHRA & o fORIw 9g0d &1 sra=adhdr 3 gl § 3aTexvl Afed
fefee

Question 21- Write with reasons why we call the Indian Constitution a living document
Or
Write with examples why special majority is required to amend the Constitution

UY22 - gra-gramstr 1 fE=mer & v Ratia Jequr & w241 7247 8 97 a8 Tadear 92 Iaeey 8
Fu+ = ferferr (4marks)
HYdf

-TE TR l TFaeAaT TTAaTerd Agl g AT AT T a digd ATEAT hiTorT?
.Question 22 - Students have to wear a prescribed uniform in school. Is this a
restriction on freedom? Write your opinion.

Or

- -Freedom of expression should not be restricted. Explain with logic?

UY23- TS ATCHIAITT 6 STERT & ST FT THAT & (R ThTL Tg (ST T TSAT ol (HHT0T 3
SARIHA TET At # arfee grar € ferfe (4marks)
Y[

TTEAAT o HHTOT § g1 qedl sl (oeqd AT hiTelT

Question 23- What do you understand by the right to national self-determination?
Write how this idea is passed in the formation of nation states and the challenges they
face.

Or
Explain in detail the elements helpful in the formation of nationalism.
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(o) farsoreraT (i) AT
(&) gusy (ACRIGICCIRE]
(@0 Heg (DRESKES
(€N RIS (iVIeRIFARTRT

9. 12 d¢T: i Aled?araAs 7 faf@d |
AYdar
TeAIG2r T2 orEeh: F2 Hid T IR |
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